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— 99127 I 1TT RN NI
There was that boat, over which they were arguing, etc.

OVERVIEW

The X773 discusses a situation where two people were fighting over the ownership
of a boat; each one claiming that it belongs to him. m»oin tells us the ruling and
why it is different from other (similar) cases.

— '92) DYYNT Y5 1N
The ruling in this case of X27X is, whoever is stronger overpowers his opponent
and takes ownership.

nooIN asks:
— nYva PPTOIN O2WN NIV INND 9NN ON)

And if you will say; why is the ruling by X27X (of 2"X72) different from the case

of two people holding a garment and each one claiming that it belongs to him, regarding
which the mwn -
— 21‘,7151'\"1 5N P RnNn N7 owI X2 97 RYIND NI V9 99NT

In the beginning of 2''2 n2on rules that the two divide the n%v.

Mo0IN answers:
29%3NY TNNRND JINOY NINT 1Y PR DIPININ DN2IYY 11937 IRV PININT DN 19229 Y9919

And the n'= explains that it is different when they are holding the item in
dispute as it is by a n°%v, as opposed to an ¥27X, for since both are in possession

we do not allow that one should rob his friend by ruling 3"x7> -
— 1153 NYAY 9 NPINA RYNY W 931 59Y >Ha DY 105WY WY P 1IN 19IND 2IUNT

For since they are both holding the n°%v, it is considered as if we (the 7"°2) know
that they both have a share in the n°5v, for every item should be placed in the
presumptive ownership of whoever is in possession of this item* -

! 32 does not issue a ruling determining to whom the boat belongs, but rather allows them to fight it out amongst
themselves (assuming that the real owner [who has more to lose] will prevail over the swindler).
> Why is the ruling by X279 that 3"X72 and by n*>u the ruling is }12r; they should both be either 3"X73 or 212, See
‘Thinking it over’ # 1.
? See “Thinking it over’ # 2.
* We are therefore presuming that each of them has an ownership in the n*>v; if we were to rule 3"x7 and one person
would retain sole ownership of the n°7v, it could be considered as if he stole from his friend, his [friend’s] portion in
the n*ov.
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mooIn proves this assertion that 17°2 XITW °» NPT TRYaR W° 127 92:
— 19X 1157 1923UN 290N Y777 9INT 2) DY GNT NAN Y297 NID) 2) 1999INTD

As the X713 stated regarding the R''97 xo03,” that even though the n0117 claimed,

‘T seized what is mine’, nevertheless we consider him a robber -
—%na PN NIAY IMN HY XIDIN NNAY 9993 NN 1IN DYDY 291

And the nvn is obligated to pay as if we were certain that the X521 belonged to
the one who was initially in possession of it.

mooIn anticipates a difficulty:
—[¥M99N N2 1Y NI NPT FAINUY 1950 Tonn 299 07T N

And that which the X713 there compares the case of n¥»wa PR 0°1w to the case

of ‘the remainder [shall be put aside until y77°%X will come]’ -
— Vot 1NN DIV PR DNNT INWAT 23 YY 9N

Even though that by the case of “Rw there, neither one of them is a P (the
monies are in the possession of the custodian). How can we compare the two cases?!

mooIn replies:
— M4m0 Y N91T 11313 DYPIND DAY 1PN INY 29UN 3193 INYT 1Y Y

It is necessary to say that the case of 98w is also considered as if they are both
2Pt (in the *wHWw man), since it was deposited on behalf of both of them.

noon offers an alternate view:

> See previous X, 72 Tny.
® There is no evidence whether the X302 belongs to the I or the Avma. If the fun1 would not be considered the PN
now (even after the nuIn is currently in possession), then the burden of proof should be on the fum1 that the X501
belongs to him. We award the X201 to the 7un because we presume he is the owner since it was in his possession and
the qun “stole’ it from him. Similarly by n*>v we presume that the holders are the owners.
Txran".
¥ The case of 28w (the remainder) is where two people deposited (together) by a third person; one deposited a 7,
while the other deposited two i11n. Subsequently each of the depositors demanded two 0°1n from the custodian. The
1127 rule that each one receives a m (which is due to him) and the ‘remaining’ third 713 should be 17°9% R2w 7¥ 12
(no one receives it). *01° " argues and maintains that the entire sum is ¥17X R2°w 7 .
? The X1 there asks why by n*2u is the ruling %19 and by W (or *w*>w 71n) the ruling is fam X7,
1% According to mpown that n9v is different since they are both Pim therefore we rule 19721 how can the X3
compare (and contradict) n*%v with “Xw, since by n*7v they are 11X therefore we say 1171 and by Rw, since they
are not PrmMR, we cannot rule 2171 so we rule nn X7°. [We cannot rule 3"X73 by Xw, since it is in the possession of
the custodian, as opposed to X217, which is not in anyone’s possession (see footnote # 15).]
' See 1211 "7 X,2 "2 '01n (and TIE footnote # 13) who writes; 2%y 077 12°RD DPaw NPIN2 09N TROIIW R 20w
12 o°p1mia. The fact that the 7p51 is holding it on both their behalf’s it is considered as if they are holding the monies.
The case of *w%w 111 is (as mentioned in footnote # 8) when they both deposited their monies in the presence of
each other, so as far as the custodian is concerned it is considered as if they both gave him three 1111 together. See
‘Thinking it over’ # 2.
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— ANRWY NY MMITI PININ RPITINDT AN TUN )2 PN 1292999
And the view of the X''2" is that the rule of Y>1717° is not necessary only when
they are both holding the item, since the X7 %) compares n°7v (where they are
holding the n°70) to “8W (where they are not holding the “w5w 7m)'* —

mooIn will now explain how the X"21 will differentiate between n°v and X217X:
— Ponn 5wunvs 1wy NN PHVRYINY

An regarding our X>»® of X27X (where we say 3"X75 and not 17> as by n"ov) we

can answer as the X723 answers there to distinguish between n°%v and “Xw, where the
X712 states -
— MAIN ST 2112 179990 IO RN INNT NIIN INT) DNN 1D 229 N1 199N

You can even say that the mwn of n°bv (where the ruling is y212°) is in agreement
with 3'"% (who maintains that the entire three 7» are nim X7°) the difference
between n°7v and XY is, that there concerning “Xv there is certainly a swindler
(therefore we cannot award him anything [not even the 712 he deserves]), however
here by n°%v there is no X»7 °X7, for we can say that both picked up the n°ov

together (and each one thinks he picked it up first), therefore since there is no *x»7 X7, we rule
y17m°. This answer that was given there to distinguish between n*5v and 2Xw, we can use -

— 43 DYNT 93 NI 99N NIN 179N NY INDT NIONT 1199 NIINI 9133 591
Here too by X29R, since there is a ’8»9 (for the boat cannot belong exclusively to

each of them) they do not divide, but rather the ruling is »'"'x7>.

In summation: The n"3 maintains that we rule ?171> whenever both litigants are in possession;
otherwise we rule 1"&72. The case of IRW is considered as if both are in possession. The X"2
maintains that we rule }?121° whenever there is no >Xn1 (regardless if they are D°p1n, as by IRY),
however, where there is a *Xn1 we rule A"R72.

Mmoo anticipates a difficulty:
— 93 DOUNT DD YTIPONY DIV 19NN NIT N

And the reason we do not rule »'"'87> in the case where two people deposited
three 0°1n by a custodian —

"2 The "2 is not satisfied with the answer of the 0" that by axw it is considered as if they are both holding the
"W Hw, since in fact they are not holding it at all.
Bxan"a.
' By 7xw and X271 there is a *X»7 °XT, one of the litigants knows that he is lying, therefore there is no p1>m (we do
not wish to award money to a >Xn7 °XTY), as opposed to n*9v (where it is possible that neither of the litigants realize
they are lying), where we do say y»17m.

3

TosfosInEnglish.com



X177 7"7 'on 2,72 22 .7"02

mooin replies:
— ‘Spwm ND 135095 'X NI 1929INTI 1227919 NYT DIVN

Because we do not remove something from its current status without sufficient
reason, as the X ) states here that once 7"°2 seizes on the request of one of the
litigants, 7"°2 does not release it and rule 3"x73. The same applies to *w7w .

Mmoo anticipates a difficulty:
— 999V NN N 13°P91 9INT INI AN

However according to X595 17 who maintains 335p2% (from 7"°2 and 2"X7D) it is

not properly understood, why by '3 711 do we not take it away from the custodian and rule
3"X72, just like we remove it from the temporary custody of 72 and say 3"x73."°

mooIn has an additional difficulty on the X"2°7 "o:
— N3 XY 0NN 8 T9mna nas q99191) Emaow /an "‘nm: 3) 7299 NN

And also what is the X nx asking shortly from the case of two ny v and from
exchanging a cow with a donkey (why do we not say there also 1"X72); but there
(in both those cases) there is no >xna?!%

mooin challenges the distinction of the "2 between nN°%v and X29K:
— 5095 5299 191301 MIPING NIN P00 KY NAYO KRN NAT AN PN

' The difference between X37X (where the ruling is 1"&73) and IXw (where the ruling is n1% XiP) is that by X since
the custodian is holding the money for the righteous party we cannot take away the money from his possession and
make it possible for the wrong party to own it. So we let the money remain it its current status (by the custodian).
However by X27X where no one is in possession, we cannot say 117 X1 and remove the possibility from the rightful
owner to take possession through 3"X73.
'® See X771 NIX *"22 how this rule applies to the custodian of the *w*ow .
' This can be found on this and the next Tmy.
'8 The case of nvw "2 is when "1 7Wnw each presents a Twuw with the same date that 12181 gifted him the identical
property. There is a dispute whether the ruling is ?12m° (according to 27) or X177 X1 (the view of PXww), but not
'R
' The case of Tmn2 719 979 is where the initial 9mn7 Yy2) 7797 Y¥2 want to swap animals. The rule is that when
the 71977 ¥2 makes a 1°3p in the 7mn both animals change owners. In this case the 775 was n72wn» but not on site
when the 71977 2v2 made a 1°3p in the 70, When the 1 Hva came to retrieve the 719 she had already given birth.
The issue is whether she gave birth before the 1°1p, so the 721 belongs to the 71971 %¥3, or it gave birth after the 1°1p so
it belongs to the 7mni Hv2. The ruling is 212 but not 2"R73.
%0 The X"27 maintains that when there is no *X»7 we rule 1»7%m°. How can the X3 ask that we should rule 3"X73 by
these cases where "X X3°%?! Others maintain (in defense of the X"2°7) that by n1uw '2 and 7mna 779 %01 it is also
a case of "Xn1 X>*X, if we assume the rulings there apply (even) in a case of 321 °73; that each litigant is sure that it
belongs to him (either that he received the 7nn 7w first [in the case of nww '], or [in the case of MMM 77 A%nNn]
that he knows when the 721 was born and it belongs to him). See 277 mx *"92.
! The n"27 miam amends this to read; X7 3" =% X7
%2507 "1 maintains by *w"9w 732 that all the three 2°32 are maw X. This precludes the explanation of N1 7212° AP
nnX (see footnote # 24), for then they should surely receive their one 7111 each.
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And [the >"'1] disagrees with the X"2», for this distinction between *Xn7 R2°7
(where we say Y%m°) and *X»7 R2°R (where we say ninm X [or A"K72]), was
presented only for the purpose of establishing the mwn of 7ImR 22w (even)
according to > -

— NP 199390 TNT ONTY N3 INN BN NP P)avY bax
However in order to reconcile the mi1wn of 12191 with the 3329 (who maintain X7
nnn (only) regarding the "W 5w 7an) the X nx answers, there by Xw this third ma»

definitely belongs to only one of them; it cannot belong to both, therefore we cannot rule
1?19m° and we rule na X -
— 459915 X)) 17999997 99199 NIINT 1PV YaN

However, by a n"®v where it is possible to assume that it belongs to both of
them; we can rule y"r° —

mooIn concludes his challenge:
— 4959507 NN DD DIPNY AWANT 191905 9395 19 7P 33 NP PNy XN

And according to that reasoning (whether nnR n1ab 3212° 7PYP0: or not), here too
by X27% we should have ruled y»7%m° for it is possible that the X2°X belongs to

both. However according to the n"A that }2121° depends on PIMR, it is understood why we do not
rule 2171 by R27X.

nooIn offers a modification of the X'"2°:
— 271‘,7151'\’ NI NIIN 1D2AN PININT NINT TUN )2 PNYY 13929 W NI

And the X''2"1 also stated that wherever there is a case of 11N even if there is

* The 1227 maintain that each receives their 7», and it is only the *w*9w 732 that is nn X; for that the explanation
of *X17 X7 is unnecessary. [However, the X"21 can maintain that after the X713 gave the answer of *Xn7 "RT1 (to
reconcile the 7wn with "0 '), that answer applies to the 1127 as well, and we dispense with the original answer
which distinguishes between nnx N1 7915° 71701 or not. ]
* The xm3 differentiates according to the 1321 between a case where NnX N> 721 Apnn then we say P1om (like
by n°ov) and where naR nvih 7212 I PR (like by whw 1) we do not say y17m (rather we rule nav &), [It
would seem bizarre if 7"°2 would rule 171 in a case where nnR N1? 7213° AP0 PR (see following footnote # 25).]
The X3 does not mention (according to the 1327) anything about *X17 RI°X or >R X7,
* It seems that 90N maintains that reasoning of whether na& NA% 7912° P12 or not is a more convincing reason
whether to say or not to say 37m°, than the reasoning whether *xn7 X>°X or not should decide the 1191 status. See
previous footnote # 24.
*® We need to distinguish between the reason of *X»7 °X7 (which is used to explain 0 ") and nrI> 7919° 7pY9RT PR
nnR (which is used to explain the 13127). There can be a case of *Xn7 X7 but Nk Na? 7212° APPnn (by XX where
one is lying when he claims it is all his, but it is possible that it belongs to both [and they are both lying]). [There can
be a case of NnR N1PAY 7912° AN PR and R 837 (like MY 2 or AN 710 §Poman [by R Raw])]
7 Previously the X"21 maintained that when there is no *X»7 we say 3151 even if they are not 71X (therefore the
X713 initially compared Xw to n°7v). Now the &"2» adds that if it is PR then even if *X1 X2°R we rule 170
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a 71, nevertheless the rule is ypYom -
— 90V PININ DY 22D (x,197 NP P92 0NN NINTD

As we learnt in a 8n>» 2 there in the first P99 of n"2, regarding two who are
holding a ~uw.”®

nooIN asks on this R"2:
— N7 INYI 233 NN (x5 97 ow) ng)ﬁ’bb 7°99 29N 12 ONT PNY 99%24Y NOYM

And the "1 has a difficulty on the &"2» "o, for if indeed we say 1172 (by a "X
if it 1s 71IX), how does the X 1) ask, according to the explanation of the X",

‘but this n°5v which is in dispute is similar to 982’ so why by n5v we rule 121 and
by Xw we rule n1 Ri°; this is the s'&723 question. Mo0IN asks what is the question according to
the X"2" -

— N0 NIINT NI 1PN N2INN NAT 2INY PTHIN 90909 NIONT
For we can answer that }1mR (by nov) is different (from %W [which is not

11mR], for PN is effective to say 17127 even when there is a “X%9 but by Ixw there
is no IR —

mooIn presents an additional difficulty with the X"2°7 "»:
— 115513 PININ BIWT PPNINN 5395 195 1YY (x,1 941 BNN T5I9 NI TV

And in addition, why does the X713 ask there, ‘and does not 529 agree with our
mawn of PrmN anuw?!’ —

mooIn concludes his question on the X"2™; what is the s'R%3 question comparing n°20 to WY -
— 590 119 90V PT P2 PIYIN W TN Yy XN
But perforce you must say there is a difference between the case of a "uvw and
the case of a n"bu -
32923 ©ITNT 93 17 111 PININ PR 23 TOWA 12190 PININ PN 19PN 17990327

*¥ The case there is where the m%» and the M are both holding the qvw, and the 7% claims, ‘you did not pay me and

I lost (and found) this "vw’, while the 1% claims, ‘I did pay you and I lost (and found) this qvw’; the ruling is 3171

(if the 70w is ©°1Pn). This is a case of *Xn7 *XT1 and nevertheless we rule 171 since PIMIX O7PIW.

** This w19 (seemingly) means according to what the X" previously said (see footnote # 12) that by *wHw

the two depositors are not considered 7T,

% However according to the 0" this is no difficulty, for *w">w 71 is also considered 11X (see footnote # 11).

31 591 ruled there (see footnote # 28) that vamina quwn o»pn. Initially the X3 assumed that if the 7191 is 0pn the

quw, he collects the entire loan. Therefore the X3 asks that it should be Y7 as in the 7awn of PIMR 2w,

32 The X"27 initially maintained that the criterion for 112 is *X»7 X2°2 regardless if P1mX or not. The difficulty with

this interpretation is why the X773 compared W (which is &7 *X71) to PrmK 22w (which is "X &3°7). To avoid this

difficulty, the X"21 modified his stance that by PImKx we say 12> even with X7 83°X. However n1o0n challenges

this assumption, for since according to the X"2* there is certainly a difference between n*9v (where X1 X>°2) and

quw (where *R1 R°K) in a case where it is not PR (that by n°%0 we will say 1»1°1° and by 10w we will say 23"X72),
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For by a n°»u (since there is no *&n1 [for each one assumes he picked it up first],
therefore) even if they are not holding the n°%v the rule is y2Y211°; however by a

"uw if they are not holding it the rule would be 3"'X7> (since there is a *X»7 XT).
Therefore you cannot ask why there is no 2171 by W, since there is a *X»7 *X71 by a qww.

SUMMARY

The view of the n" is that the criteria for 191 are IR and N2 73212° 371900
nnX. The view of the X"2°7 is that the criteria for 12191° is *8n7 X2°% or IR (even if
RN RIR).

THINKING IT OVER

1. m»doIn here (concerning 3"X75 by X27X) asks nHvn w"n (where we say 12m).
mMooIN in 1"2 (concerning 9n° by N9v) asks X2I8n W' (where we say 1"R72);>
what is N1901n question in either (or both) cases? Does N1501n want (in 2"2) that we
should say 3"X75 by n*v, or does mooIn want (here) that we should say 1217 by
X272

2. m»doIn writes that the X773 initially compared IXW to n°2v since by KW it is also
TPDI DAY MOMT 17D 12 DRI DI 19°K8D 179 2w’ However regarding N'ob we see
that Moo writes™® 72 PoI TTIWY W PYTY 1R 12°KD °wn7. We cannot say this by
IXW, on the contrary, we know that the *w>5w 1an belongs only to one; how did the
X3 seek to compare W to nvou?!Y’

so once we already have this difference what forces the X773 to assume that 27 maintains (as the X" is proposing)
that every 7TMIX requires 2171 even by *Ri7 XK.
3 See footnote # 2.
* See n"ma.
> See footnote # 11.
% See footnote # 3.
7 See 7 mx "™,
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